Topic 5 Test Review Name W

</

Graph each function then state the vertex, axis of symmetry, domain, and range

1. f(x)==3|x| 2. f(x)=%|x—1|-—2 3. f(x)=—|x+2|+2
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Vertex: (O_; 0—5 Vertex: (l -2) | Vertex:  (— 2;’2:)
Axis of Symmetry: X =0 Axis of Symmetry: = Axis of Symmetry: X = =)
Domain: ¥ & L-OOJ 00) Domain: Xé(:OOJ 003 Domain:Xe (—-wj wj

Range: lj & (_00/ O] Range: \dt E’Q—J OO) Range ‘.4(: (_ 00, 7:]

For each graph, write the equation, find the average rate of change, and where the function is increasing
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Equation: g 5 lX"'l \ Equation: ﬂ = ""2_. l X"'Zl L3 Ll-
Average ROC over the interval x € [1,2]: — 3 Average ROC over the interval x € [-1,2]: = L+

State the interval where f(x) is increasing: XE’ (l @ State the interval where f(x) is increasing: 2'

Xg(=00,-2)
Solve each equation for x.
6. 2—[2x-3| =1 7. 42+4x|=8 8. [4+2x]-3=9
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7. Lisa’s school is selling wrapping paper as a fundraiser. For up to 30 wrapping paper rolls, it cost $5 per roll and $3 for
shipping. 31 to 60 rolls cost $4 each with $3 for shipping. More than 60 rolls cost $3 per roll with no shipping fee. Write a
piecewise defined function for the cost of wrapping paper.

*F(X).—: 5x+3j Xe30

Hx+2, 2leX £W0
AX X 700
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Graph each piecewise defined function and then state the domain and range
8. f(x) 3,x<-3 9. £(x) —x+2,x<-1
 f(x)= J(x)=
X4=2.x>-3 s 2x+Lx=20
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Over what intervals is f(x) increasing: What is the average ROC over the interval x €[0,1]

XE (=2, 00) £ =72

Write the equation for the piecewise function below
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